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QUESTION 1

Proxy access is configured per gadget. An administrator can restrict access beyond the settings for server access or for
all server access. 

What file is used for this configuration? 

A. proxy-policy.config 

B. proxy-policy.dynamic 

C. proxy-configuration.policy 

D. proxy-policy.dynamic.config 

Correct Answer: B 

 

QUESTION 2

Which service can be used to access IBM Domino data via an OpenSocial gadget? 

A. Domino XML 

B. Domino HTTP 

C. Domino REST 

D. Domino HTML 

Correct Answer: C 

 

QUESTION 3

Where in the OpenSocial Core gadget namespace are remote content retrieval functions located? 

A. gadgets.io 

B. gadgets.data 

C. osapi.getData 

D. gadgets.remoteContent 

Correct Answer: A 

 

QUESTION 4

What are the two types of Content supported in the gadget specification? 
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A. URL 

B. Local 

C. HTML 

D. JavaScript 

E. Remote application 

Correct Answer: AC 

 

QUESTION 5

Which are valid REST API calls? 

A. GET, POST, PUT ,DELETE 

B. POST, PUT ,FETCH, DELETE 

C. GET, UPDATE,PUT, DELETE 

D. SELECT, POST, GET, DELETE 

Correct Answer: A 

 

QUESTION 6

What is true regarding a gadget with Type="URL"? 

A. Only Type="HTML" can be used for an OpenSocial Gadget. 

B. A standard set of parameters are not added to the URL by the gadget server. 

C. Type URL gadgets cannot take advantage of all features, notably features that manipulate HTML and JavaScript
code directly. 

D. When loading JavaScript library requests, a server must provide an OAuth service for retrieving core and feature-
linked JavaScript. 

Correct Answer: C 

 

QUESTION 7

Maggie is fine-tuning her OpenSocial gadget to render on screen. 

What type of interface is she building that involves the getCallback{) method? 

A. timer MiniMessage 

B. Flash movie playback 
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C. tabbed gadget interface 

D. status update to contact list 

Correct Answer: B 

 

QUESTION 8

IBM Connections supports automatic authorization of trusted clients. What must be performed to register an arbitrary
client? 

A. Register the client using basic authentication through an OpenSocial stream. 

B. Obtain the client secret and update the opensocial-config.xml with the provided code. 

C. Edit the opensocial-config.xml and add the new authorized client within the trusted clients. 

D. Register the client using the wsadmin tool and execute OAuthApplicationRegistrationService.addApplication
command with all required parameters. 

Correct Answer: A 

 

QUESTION 9

Which option describes the role of the Service Provider when developing OpenSocial applications? 

A. an Apache Shindig container 

B. a web server that stores OpenSocial 

C. a web application that allows access via OAuth 

D. a web server that hosts OpenSocial applications 

Correct Answer: B 

 

QUESTION 10

OAuth does not require a specific interaction pattern which makes it ideal for which reason? 

A. For cases where OpenID is required and available to the consumer. 

B. For cases where OpenID is not required but is available to the consumer. 

C. For cases where authentication credentials are unavailable to the consumer. 

D. For cases where authentication credentials are always available to the consumer. 

Correct Answer: A 
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